Spring Test 4

1 |03+ =1 2 =70 X100

5 [5[8418 6 | 49=

7 19— =302 8 | 5455 X 7 =

9 i—%= 10| 4.8652 X 100 =

1 =10° 12| 3 x5

13| (7+3)x5= 14| 5 of 24 =

1 1 2 1
15| 7 5= 16| s X5 =
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Spring Test 4 (continued)

17 = 8000 — 4219 18 | 645283 — 4395 =
373
19 5 9 1 6 5 20 % 9 4 (2 marks)

U 0

21 |6 X = 4656 22| 4387+386+59=

U U

23| 7003 — = 2885 24 |7 =1904 +

U U

25 +936 = 14825 26|17 ]6732 (2 marks)

U 0

- 2794 (2 marke) [Totol marks / 30)

O

How well did you do? + with correct place value | 18 | 22 | 25

Colour the numbers of the — with zeros 17 | 23

questions you got correct. =orxby10,1000r1000 | 2 |10
Long x and long + 20| 26 | 27
Fractions 9112114 115| 716
Missing numbers 11467 |21]23]|24]25
Brackets 13
+ 13 |22
- 1171911517118 ]23(25
X 2 1348|101 |[12]|13|14]16|20]27
+ 516 (7 (1419212426
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